
PHYs2506

pRC,BLEM sET1

AssigⅡ ed  :13sept2012
Due      : 20sept2012

l   Con“ dcl aluminum(AD,mol珈 dCnum(Mol,illngstcn(W),and1Cad lPbl atoms
mlclr at。nlIo rnasscs arc:

A〗∶25986892amu
Mo:97905408al9tu

`^`:183950933ai luPb∶ 203973029al lll

(i) Find thc atomic mass lllllllbCr and nunlbcl ofnclltons for cach atom

(ii) Find dlc ntu11beI ofele⒍⑩ns per graIn for eaoh elellleIlt

llii) CalclI1atc thc blnding cn达囹 pcr nlIclcon for caGll nllc1ci

ll⑷  Find the pincipal quanhJm nllmbcr forthc OlItcrmost cIco订 on in cacll atom for

uhc gn。 und statc

(o  Calclllatc dlc Kct1,X“ △2,Kβ l,Kβ 2,Lx1,Lα 2,Lβ l,Lβ2For Ca。h oftllc atoms

←i) Cdclllatc tllc war`dcllgdls atld icqttcllCiCs of ulc K⒊ l alld Lct1allorcsccnCc

photons

←lll XVllat arc tllc apploxlmatc rad讧 for ca山 nudcuso

2   W△ at arc tllc four dlffcrcllt forocs in naturc?Whioh ofthc forccsis rcsp° nsibIc for ho1dlng thc
nucIcOns togctllcr in a nuoIclls?

3     、̌πat conlbina甘 on of quarks makc up a proton and vlhat combination of quarks makc up a

ncutlon?

4     For an cnct昏 of1、‘e￠ ,n·llat is thc cqllivalcnt mass?

5   Calculatc ulc numbcr。 f atoms lIi1g of2⒋ Am、 △̌at is tllc aα i钫饣of1g of⒉
lAm(halI

hfc=4327汐ars`

6  How mucll timc is rcquircd bcforc a lO mCi satllp1c of9’
mTc(Tl泛=60hours)and a25mCi

sallplc of l13mIn lT〗泛=17h°urs)possess cqL al ao位 vities?

7    Is tllc atomlc cncrg lcvcl tatlsition NII● LⅡ al1owcd?Explaln

pHYs25°6Mcdical Radla位on Ph於 ics pagc1。f1


